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Lecture - 54 

Questions on analogy for week 3 

 

Now that you have seen the animation, we need to help out Amir to send all the equipment to 

Navneet. We also know the constraints that are there, some of which are time bound constraints, 

some of which are weight bound constraints. So, what you need to do is to come up with 

scenarios by which Amir can send all this equipment to Navneet according to their constraints. 

And post your responses in the discussion forum. In the next week, we will come back and we 

will look at these responses in detail and see how they are connected to the concept of transport 

layer in a network. 

 


